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	Řešení originálů z ŠU 11/2017
87 J.Fomičev 1.Kf1 1…Dxc6 2.Je5+ fxe5 3.Vb4+ Kc3 4.Da1+ Kd2 5.Se3+ Kxe3 6.Dc1+ Dxc1X, 

1…hxg2+ 2.Ke1 Dxc6 3.Je5+ fxe5 4.Sd5+ Dxd5 5.Vb4+ Kc3 6.Dd2+ Dxd2X, 

1…h2 2.Jxh2 Dxc6 3.Vb4+ Kc3 4.Da1+ Kd2 5.Se3+ Kxe3 6.Dc1+ Dxc1X (3x2 = 6 bodů)
88 M.Bílý A: 1.Dd4 Sc3 2.Ke5 Kg5 3.e6 Jc4X,

B: 1.Vd6 Jb7 2.Dd5 Sc4 3.Ve5 Jc5X (2x2 = 4 body)
89 A.Ivunin + A.Pankratěv 
A: 1.Sg4 Kd3 2.Dxb3+ Ke4 3.Dh3 Sc3 4.Kg3 Se1X
B: 1.Sh5 Kc4 2.Jg4 Jd4 3.Vh3 Sc1 4.f3 Jf5X (2x2,5 = 5 bodů)
90 K.Vašírovský + P.Kameník 1.Vf7 Jxf7+ 2.Kg7 gxh6+ 3.Kf6 Jg5=
1.Vh3 gxf6 2.Vxf3 Jxf3 3.g5 Jxg5=

1.Kg7 Jxg6 2.Vf8+ Jxf8 3.Kh8 gxh6= (3x1,33 = 4 body)
91 Z.Libiš 1.g5 Jxh3 (+čph7) 2.0-0+ Kg2 3.Kh8 Jxg5 (+čpg7) 4.Vg8 Jf7X
1.0-0-0 Jd3 2.Kb8 Jxb4 (+čpb7) 3.Ka8 Jxa6 (+čpa7) 4.Vb8 Jc7X

 (2x2,5 = 5 bodů)
92 Z.Libiš 1.Sh6 1…cxb3+ 2.Kb1 b2 3.Ca5 b3 4.Vc3 dxc3 5.Ca6 c2X,

1…cxd3+ 2.Kd1 d2 3.Cee5 d3 4.Vc3 bxc3 5.Cc2 dxc2X,
1…c3 2.Kc1 c2 3.Cf5 d3 4.Vc3 bxc3 5.Cg5 d2X (3x2 = 6 bodů)
Problémy nebyly žádné, gratulujeme třinácti vítězům s plným ziskem 30 bodů!
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